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arccos + 2mn < x < arcsin + 2mn,n € Z




21. Теңсіздікті шеш:
[image: image659.png]T o
sin £ cosx + cos & sinx < 1




A)[image: image661.png](—§+1m;§+1m),n €z




B) [image: image663.png]



C)[image: image665.png]+ Znn;zz—"+ 21m],n€Z





D)[image: image667.png](—;+ Znn;zz—"+ 21m),n€Z




E)[image: image669.png][—5+1m;3+1m],nez
z 2




22. [image: image671.png]sin 3xcosx — cos3xsinx > 0.5




A) [image: image673.png]mk+Z<x<Z4nkkeZ
> ey




B)[image: image675.png]mk+i<x<ZimkkeZ
> ey




C) [image: image677.png]2mk+Z<x <4 2mkk €Z
> ey




D)[image: image679.png]mk+Z<x<ZimkkeZ
o ey




E)[image: image681.png]2mk+Z <x <Z42nkk€Z
o ey




23. [image: image683.png]sin2x +3cos3x =1




A) [image: image685.png]Iymm<x<Z4mnnez
Z ey




B) [image: image687.png]Iymm<x<Z4mnnez
Z ey




C)[image: image689.png]“Ii2m<x<Z+mmnez
Z ey




D)[image: image691.png]—f+21m§x§i—'2'+21m,nez




 
E)[image: image693.png]—Iimm<x<Z42mmnez
Z ey




24. [image: image695.png]sin?x — 3sinx cos x + 2cos?x < 0




A) [image: image697.png]—57—"+2nn<x<arctgz+2nn,nez




B) [image: image699.png]—%+1m<x<arctgz+1m,nez




C) [image: image701.png]f+1m<x< arctg2+mn,n€Z




D)[image: image703.png]f+1m§x<arctgz+1m,nez




E) [image: image705.png]—%+1m<x<f+1m,nez




25. Теңсіздіктің бүтін шешімдер санын тап: [image: image707.png]17m

(x—1 —S)m:g§< 0




A) 1

B) 2

C) 3

D) 4

E) 5
